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Ligatures with   0 °   (âa)   as first consonant in a stack

Often the consonant  is just reduced in graph: Ð 0 (âka) À Ð  (âkha) ° `  (âtsa) ` 0  (âtsha) P 0  (âtsha) 

                                 P P  (âpa) @ `  (âpha) 

Attention:  writing and reading clusters : ` P  (âpa)  and 0 P 

                            Ditto don’t confuse: P P  (âpa) with 0 ` (ppa) and with 0 À (sâa) 
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Ditto don’t confuse: @ `  (âpha) with ð à  (phpha) 

There are three common versions in use for the cluster: P  ° (âóa)  0 ° (âóa)  ` ° (âóa)   

There are three versions in use for the cluster:  P 0  (âtsha)  ` 0  (âtsha) P 0  (âtsha) @ 0  (âtsha) 

A reduced version in use for the cluster: k @  (âóya) instead of  J @ ° @   K @ P @  (âóya)     
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